// *******************************************************************
// Overloading1.java By: Aiman Hanna (C) 1993 - 2016
// This program illustrates how functions can be overloaded. In other words,
// how different functions can have the "same" name. 
//
// When overloading functions, you must notice the following:
//
i)   Overloaded functions must either have different number of parameters, or
//
ii)  different types of parameters.
//
iii) When an overloaded function is called, the compiler must be able from
//         the call to tell which function to use; otherwise run-time error will occur. 
//
iV)  The return type does NOT distinguish overloaded functions. 
// 
// Key Points: 
//
1) Function Overloading  
// ******************************************************************* 
import java.util.Scanner;
class Additions
{


// Constructor 

Additions() 

{


// Nothing for now

}

// Function that adds two integers and return their total

int Add(int i1, int i2)

{


int total = i1 + i2;


System.out.println("\nAdding two integers.....");


System.out.println("The result of adding " + i1 + " to " + i2 + " is: " + total);


return total;

}

// Function that adds three integers and return their total

int Add(int i1, int i2, int i3)

{


int total = i1 + i2 + i3;


System.out.println("\nAdding three integers.....");


System.out.println("The result of adding " + i1 + " to " + i2 + " to " + i3 + " is: " + total);


return total;

}

// Function that adds two double values and displays the result

void Add(double i1, double i2)

{


double total = i1 + i2;


System.out.println("\nAdding two double values.....");


System.out.println("The result of adding " + i1 + " to " + i2 + " is: " + total);

}

// Function that adds three doubles and return their total

double Add(double i1, double i2, double i3)

{


double total = i1 + i2 + i3;


System.out.println("\nAdding three double values.....");


System.out.println("The result of adding " + i1 + " to " + i2 + " to " + i3 + " is: " + total);


return total;

}
}
public class Overloading1 {

public static void main(String[] args) {

Scanner kb = new Scanner(System.in);


Additions a = new Additions();

int iTot;

double dTot; 

int iVal1, iVal2, iVal3;

double dVal1, dVal2, dVal3;

System.out.print("\nPlease Enter 2 integers to add: ");

iVal1 = kb.nextInt();

iVal2 = kb.nextInt();

a.Add(iVal1, iVal2);

System.out.print("\nPlease Enter 3 integers to add: ");

iVal1 = kb.nextInt();

iVal2 = kb.nextInt();

iVal3 = kb.nextInt();

iTot = a.Add(iVal1, iVal2, iVal3);



System.out.print("\nPlease Enter 3 double values to add: ");

dVal1 = kb.nextDouble();

dVal2 = kb.nextDouble();

dVal3 = kb.nextDouble();

dTot = a.Add(dVal1, dVal2, dVal3);

System.out.println("\nThe value of iTot is: " + iTot + ", and the value of dTot is: " + dTot);

System.out.print("\nPlease Enter 2 double values to add: ");

dVal1 = kb.nextDouble();

dVal2 = kb.nextDouble();

a.Add(dVal1, dVal2);

System.out.print("\nAttempting to add an integer to a double - What would be the result!: ");

a.Add(10, 3.4);

kb.close();

}
}
/* The Output - As a side note, you should also notice the total value of adding 3.2 to 5.4
Please Enter 2 integers to add: 10 14
Adding two integers.....
The result of adding 10 to 14 is: 24
Please Enter 3 integers to add: 12 3 6
Adding three integers.....
The result of adding 12 to 3 to 6 is: 21
Please Enter 3 double values to add: 1.2 4 9.1
Adding three double values.....
The result of adding 1.2 to 4.0 to 9.1 is: 14.3
The value of iTot is: 21, and the value of dTot is: 14.3
Please Enter 2 double values to add: 3.2 5.4
Adding two double values.....
The result of adding 3.2 to 5.4 is: 8.600000000000001
Attempting to add an integer to a double - What would be the result!: 
Adding two double values.....
The result of adding 10.0 to 3.4 is: 13.4
*/
